Efficiency vs dr

o
[od

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

Ratio
N

—=— DQM_T
—e— DQM_’
.| —— pom_

TT_n

0T
T_original_time

ewsco

reonly
ified_time

INIT_tim

TT_mod

1072

[ Efficiency vs dr (track,jet) |

-1

1
TP min AR

§0.05
d0.045
£
%0.04
9.035
>
20.03
Q
§=6.025
3]
0.02
0.015
0.0
0.005

[y

1072

1
AR(TP, jét)

) E T T T T T T T
O S S | R I
0 N T T R B
2008+t |- bt
9] T I I
Uy R O S B B
006+
U R RS R R 0
0.04F - drovebe e e ook B o
0.03F - froebf- - - d ke if o
0.02F " firr o T ool |
.01 o froeeveoe PR feeeeunneions
P =0 T | A T T TR OO OO TP O
o B : T :
?U‘ r g . B
2 L g
1 --:,n—n- ------------------
095" 55 60 65 70 75 80 85 90 95 100

(@]

Pileup

-1




	Contents
	Page 1


